

R. U. VERMA (*)

On integrals involving H-function of Fox. (**)

1. - Introduction.

The H-function introduced by Fox ([2], p. 408) will be represented and defined as follows:

$$(1.1) \quad \begin{aligned} & \underset{p,q}{H} \left[x \left| \begin{matrix} a_p, \alpha_p \\ b_q, \beta_q \end{matrix} \right. \right] = \\ & = (2\pi i)^{-1} \int_L \frac{\Gamma[(b_m) - (\beta_m)\xi] \Gamma[1 - (\alpha_n) + (\alpha_n)\xi]}{\Gamma[1 - (b_{m+1,q}) + (\beta_{m+1,q})\xi] \Gamma[(\alpha_{n+1,p}) - (\alpha_{n+1,p})\xi]} x^\xi d\xi, \end{aligned}$$

where x is not equal to zero, and an empty product is interpreted as unity; p, q, m, n are integers satisfying

$$1 \leq m \leq q, \quad 0 \leq n \leq p,$$

α_j ($j = 1, \dots, p$), β_j ($j = 1, \dots, q$) are positive numbers and a_j ($j = 1, \dots, p$), b_j ($j = 1, \dots, q$), are complex numbers and that no pole of $\Gamma(b_h - \beta_h \xi)$, ($h = 1, \dots, m$) coincides with any pole of $\Gamma(1 - a_j + \alpha_j \xi)$, ($j = 1, \dots, n$), i.e.

$$(1.2) \quad \alpha_i(b_h + \nu) \neq (a_i - \eta - 1)\beta_h, \quad (\nu, \eta = 0, 1, \dots; h = 1, \dots, m; i = 1, \dots, Tn).$$

(*) Indirizzo: Department of Mathematics, University of Cape Coast, Ghana.

(**) Ricevuto: 19-II-1970.

Further the contour L runs from $\sigma - i\infty$ to $\sigma + i\infty$ and that the points

$$(1.3) \quad \xi = (b_h + \nu)/\beta_h \quad (h = 1, \dots, m; \nu = 0, 1, \dots),$$

which are poles of $\Gamma(b_h - \beta_h \xi)$, lie to the right and the points

$$(1.4) \quad \xi = (a_i - \eta - 1)/\alpha_i \quad (i = 1, \dots, n; \eta = 0, 1, \dots),$$

which are poles of $\Gamma(1 - a_i + \alpha_i \xi)$, lie to the left L . Such a contour is possible on account of (1.2).

The following notations will be used throughout the present paper:

The symbol $(\epsilon_{m,p})$ denotes the sequence of $p - m + 1$ parameters $\epsilon_m, \epsilon_{m+1}, \dots, \epsilon_p$, but when $m = 1$, we shall denote it by (ϵ_p) instead of $(\epsilon_{1,p})$.

As usual, $\Gamma[(a_\Delta)]$ denotes $\prod_{r=1}^{\Delta} \Gamma(a_r)$. Also, the symbol $\Delta_n[m; \alpha]$ denotes $\alpha | m, (\alpha + 1) | m, \dots, (\alpha + n - 1) | m$ parameters but when $m = n$, we shall denote it by $\Delta[m; \alpha]$ instead of $\Delta_m[m; \alpha]$.

2. - Evaluation of the integral.

In this section, a generalisation of infinite integrals involving the H -function due to Fox, is evaluated on the basis of [3]₁. Thus, it should include various integrals formulae as special cases as it involves the H -function of Fox [2].

Consider a function ($m_1 + n_2 \leq n_1 + m_2$)

$$\varphi(t) = (2\pi i)^{-1} \int_L \frac{\Gamma[(a_{n_1}) + (A_{n_1})s]}{\Gamma[(\delta_{m_1}) + (A_{m_1})s]} \times \frac{\Gamma[(b_{n_2}) - (B_{n_2})s]}{\Gamma[(\eta_{m_2}) - (B_{m_2})s]} \times t^{-s} ds,$$

which is, in fact, the sum of n_1 generalised hypergeometric series of the type ${}_{m_1+n_2}F_{m_2+n_1-1}$.

By Mellin inversion formula

$$(1.5) \quad \frac{\Gamma[(a_{n_1}) + (A_{n_1})s]}{\Gamma[(\delta_{m_1}) + (A_{m_1})s]} \times \frac{\Gamma[(b_{n_2}) - (B_{n_2})s]}{\Gamma[(\eta_{m_2}) - (B_{m_2})s]} = \int_0^\infty \varphi(t) t^{s-1} dt.$$

The generalised integral is

$$\begin{aligned}
 (1.6) \quad & \int_0^{\infty} t^{2\nu-1} \varphi(t) \underset{p,q}{H} \left[\begin{matrix} m', n' \\ z t^{-2n} \left| \begin{matrix} (\alpha_p, \alpha_p) \\ (b_q, \beta_q) \end{matrix} \right. \end{matrix} \right] dt = \\
 & = \left((2\pi)^{\frac{1}{2} - n(n_1 + n_2 - m_1 - m_2)} \right) \times \left((2n) \underset{1}{\Sigma}^{\frac{n_1}{1}} (\alpha_q) + \underset{1}{\Sigma}^{\frac{n_2}{1}} (\beta_q) \right) \times \\
 & \quad \times \left((2n) \underset{1}{\Sigma}^{-\frac{m_2}{1}(\delta_q) - \frac{m_2}{1}(\eta_q) + 2\nu(n_1 - n_2 - m_1 + m_2) - \frac{1}{2}(n_1 + n_2 - m_1 - m_2)} \right) \times \\
 & \quad \times \left(\underset{p,q}{H} \left[(2n) \underset{1}{\Sigma}^{2n(n_2 - n_1 + m_1 - m_2)} z \left| I_1 \right. \right] \right),
 \end{aligned}$$

where $M = m' + 2nn_1$, $N = n' + 2nn_2$, $P = 2nn_2 + p + 2nm_1$, $Q = 2nn_1 + q + 2nm_2$, n is a positive integer and

$$I_1 = \left[\begin{matrix} \Delta_{2n}[-2n; R], (\alpha_p, \alpha_p), \Delta[2n; R'] \\ \Delta[2n; T], (b_q, \beta_q), \Delta_{2n}[-2n; T'] \end{matrix} \right].$$

In I_1 , $R = ((b_{n_2}) - 2\gamma - 2n, (B_{n_2}))$, $R' = ((\delta_{m_1}) + 2\gamma, (A_{m_1}))$, $T = ((\alpha_{n_1}) + 2\gamma, (A_{n_1}))$ and $T' = ((n_{m_2}) - 2\gamma - 2n, (B_{m_2}))$.

The result (1.6) can be easily established by proceeding on similar lines as in the case of the generalised integral due to Verma ([3]₁ (4.2)) and then using the definition of the H -function of Fox [2].

3. - Particular cases.

Many more integral formulae can be established from it as particular cases, some of the results are known and few may be non-existent:

(i) By taking $(A_{n_1}) = k$, $(B_{n_2}) = k$, $(\alpha_p) = k$, $(\beta_q) = k$, $(A_{m_1}) = k$, $(B_{m_2}) = k$ and then using the result

$$\underset{p,q}{H} \left[x \left| \begin{matrix} (\alpha_p, k) \\ (b_q, k) \end{matrix} \right. \right] = (k)^{-1} \underset{p,q}{G} \left[x^{1/k} \left| \begin{matrix} (\alpha_p) \\ (b_q) \end{matrix} \right. \right],$$

k being a positive integer, we get

$$\begin{aligned}
 (1.7) \quad & \int_0^\infty t^{2\nu-1} \varphi(t) \underset{p, q}{H} \left[zt^{-2n} \left| \begin{matrix} (a_p, k) \\ (b_q, k) \end{matrix} \right. \right] dt = \\
 & = \left(k^{-1} (2\pi)^{\frac{1}{2} - n} (n_1 + n_2 - m_1 - m_2) \right) \times \left((2n) \underset{1}{\Sigma}^{n_1} (a_q) + \underset{1}{\Sigma}^{n_2} (b_q) \right) \times \\
 & \quad \times \left((2n) \underset{1}{\Sigma}^{-\frac{m_1}{1}} (\delta_q) - \underset{1}{\Sigma}^{\frac{m_2}{1}} (\eta_q) + 2\nu (n_1 - n_2 - m_1 + m_2) - \frac{1}{2} (n_1 + n_2 - m_1 - m_2) \right) \times \\
 & \quad \times \left(\underset{P', Q'}{G} \left[(2n) \begin{matrix} 2n/k (n_2 - n_1 + m_1 - m_2) & 1/k \\ z & I_2 \end{matrix} \right] \right),
 \end{aligned}$$

where $P' = 2nn_2 + p + 2nm_1$, $Q' = 2nn_1 + q + 2nm_2$ and

$$(1.8) \quad I_2 = \begin{bmatrix} \Delta_{2n}[-2n; C], (a_p), \Delta(2n; C') \\ \Delta[2n; D], (b_q), \Delta_{2n}[-2n; D'] \end{bmatrix}.$$

In (1.8), $C = (b_{n_2}) - 2\gamma - 2n$, $C' = (\delta_{m_1}) + 2\gamma$, $D = (a_{n_1}) + 2\gamma$ and $D' = (\eta_{m_2}) - 2\gamma - 2n$.

References.

- [1] A. ERDELYI, *Higher transcendental functions* (I), Bateman Manuscript Project.
- [2] C. FOX, *G and H-functions as symmetrical Fourier kernels*, Trans. Amer. Math. Soc. **98** (1961), 395-429.
- [3] R. U. VERMA: [\bullet]₁ *Integrals involving Meier's G-functions*, Ganita **16** (1965), 65-68; [\bullet]₂ *A generalisation of integrals involving Meijer's G-function of two variables*, Math. Student (in press); [\bullet]₃ *On some integrals involving Meijer's G-function of two variables*, Proc. Nat. Inst. Sci. India A (5) **32** (1966), 509-515; [\bullet]₄ Thesis approved for Ph. D. degree, Lucknow University, Lucknow 1968; [\bullet]₅ *Certain integrals involving the G-function of two variables*, Ganita **17** (1966), 43-50.

A b s t r a c t .

In this paper a generalisation of infinite integrals involving H -functions is established. This generalisation includes various integrals as particular cases, some of them are found by the author and others.

* * *

